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Deaths in school: On the state of government schools
Infrastructure of government schools needs urgent attention

On July 25, 2025, tragedy awaited students of Classes 6 and 7 at the Piplodi Government School in
Rajasthan’s Jhalawar district as they assembled for prayer. A part of their school building gave way
leading to the deaths of seven and injuries to several others. Most of the students were from tribal
communities. The school is in the southeastern part of the State bordering Madhya Pradesh. There
was a similar incident the next day in Nagaur district but the school was closed being a holiday. There
has been much public anger in the State over the incidents which, quite rightly, have thrown the
spotlight on the state of government schools. As in UDISE 2023-24 data, there are more than 70,000
government schools in Rajasthan serving nearly 84 lakh students, especially from the poorer and
marginalised sections. Of these, some 8,000 schools have been estimated by the Education
Department to be in a poor condition. The Jhalawar school was not among the schools identified as
being in a poor state, indicating the extent of the problems. Some X650 crore had been allocated in
the past two State budgets for boosting the infrastructure but inefficiencies in government have
ensured that the measures did not make much difference. Fixing the infrastructure of government
schools should be a priority for the State’s Bharatiya Janata Party government.

The tragedy in Rajasthan should serve as a wake-up call across India, given the current policy defocus
on government-owned education institutions. The National Education Policy (NEP) 2020 had called for
an immediate increase in spending on education, from some 4.6% of GDP to 6%, identifying one-time
spends on infrastructure as the lead priority besides identifying other sectors for a boost in support.
Five years into the NEP, there is little to suggest that this has been a focus area for governments,
Union or State. Policy thrusts have been more towards reducing government support, self-financing,
and encouraging private sector contribution. While these may be applicable to higher education, basic
school education is a primary duty of the government — as it is across the world including in the most
developed nations. Setting up model schools and funding them to serve as exemplars cannot be at
the cost of mass school education. Foundational Literacy and Numeracy has been identified as a
critical area for boosting workforce productivity and reaping the demographic dividend that will soon
run its course as India’s population ages. But the discourse on pathways towards achieving them is
more on pedagogy, non-formal teaching and so on than the essentials — an infrastructure boost and

teacher recruitment and training. |[Practice Exercise]\

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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10.

Vocabulary
11.

Infrastructure (noun) — framework,
structure, facilities, system, foundation

AT
Await (verb) — wait for, expect, anticipate,
look forward to, be ready for TAT&IT AT

Assemble (verb) — gather, congregate,

collect, convene, cluster S&aT gl

Give way (phrase) — collapse, fall apart,
break down, crumble, yield E.:EGHFIT/

EaEd glelT

Lead (to) (verb) —result in, cause, bring

about, contribute to, culminate in daolg

Sololl

Throw the spotlight on (phrase) —
highlight, focus on, draw attention to,

underscore, bring to light T 3Th T
HIAT

State (noun) — condition, situation,

position, circumstance Tufa

Marginalised (adjective) — excluded,
oppressed, neglected, disadvantaged,

alienated gfaId oeT

Estimate (verb) — assess, approximate,
evaluate, gauge, appraise Hﬂmﬁﬂ?ﬂm

Extent (noun) — range, degree, scope,
scale, magnitude TTHAT / TR

12.

13.

14.

15.

16.

17.

18.

19.

20.

Allocate (verb) — assign, distribute, allot,
apportion, earmark 3afed e

Boost (verb) —increase, raise, improve,
enhance, uplift ElETElTa?lT

Inefficiency (noun) — incompetence,
wastefulness, incapacity, ineffectiveness,

unproductiveness 3T&THAT

Make much difference (phrase) — have
impact, be effective, influence, matter,

bring change e STolel

A wake-up call (noun) — alert, warning,

eye-opener, caution, signal IdTdsir /
ERICGIRGEICIRIGI

Given (preposition) — considering, in view
of, taking into account, bearing in mind,

due to %Wﬁ'WFTg'U

Defocus (noun) — distraction, loss of focus,
deviation, neglect, dilution €dTe1 gl

Call for (phrasal verb) — demand, require,

urge, necessitate, appeal for HI3T HLAT

Thrust (noun) — emphasis, focus, push,
drive, direction S / ol

Set up (phrasal verb) — establish, build,
create, launch, found TATTIT AT

. Exemplar (noun) — model, ideal, standard,

prototype, archetype 31T&2T 3&TgIUT

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in

Website: www.englishmadhyam.info, Phone number: 7722987077

Page 2




JOIN TELEGRAM CHANNEL: ENGLISH MADHYAM

22.

23.

24.

25.

26.

27.

28.

Be at the cost of (phrase) — sacrifice, trade-
off, compromise, at the expense of, result

in loss @IFIHWBTFIT

Foundational (adjective) — basic, essential,
fundamental, core, primary gﬁ'ﬂ'@f

Literacy (noun) — reading ability,
education, knowledge, proficiency,

learning A& AT

Numeracy (noun) — mathematical ability,
arithmetic skills, quantitative skills, number

sense, calculation ability 9T0TeITcHh

Jragdr

Critical (adjective) — crucial, vital, essential,

important, decisive H%F:I’Cl‘?‘f

Productivity (noun) — efficiency, output,

performance, yield, production 3cdTgehdl

Reap (verb) — harvest, gain, obtain,
receive, derive oITH 3STAT / hIcAT

29.

30.

31.

32.

33.

Demographic dividend (noun) —
population bonus, youth advantage, labor
advantage, workforce benefit, age-

structure benefit STATTIREIHTT SATIHTLT

Run one’s course (phrase) — come to an
end, finish naturally, expire, play out,

conclude W@HT

Discourse (noun) — discussion, debate,

dialogue, conversation, narrative fa?:l'QT/
qarg

Pedagogy (noun) — teaching method,
instructional strategy, education
technique, learning approach, didactics

Tremeney

The Essential (noun) — necessity,
requirement, fundamental, basic,

indispensable thing 3TdRIS TEJ
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10.

11.

12.

13.

14.

15.

Summary of the Editorial
Tragic incident in Rajasthan: On July 25, 2025, a school building collapsed during
morning prayers at Piplodi Government School, Jhalawar, Rajasthan, killing seven
students and injuring several others.
Victims were tribal students: Most of the affected students belonged to tribal
communities, highlighting the vulnerability of marginalized groups.
Second similar incident: A similar building collapse occurred the next day in Nagaur
district, but casualties were averted as the school was closed for a holiday.
Public outrage: These incidents triggered widespread anger and protests across the
State, demanding accountability and reform.
Poor infrastructure highlighted: The condition of government school infrastructure is
now under renewed scrutiny due to these tragedies.
Large network of schools: According to UDISE 2023-24, Rajasthan has over 70,000
government schools, serving 84 lakh students, mostly from poor and marginalized
communities.
Widespread structural issues: Around 8,000 schools have been officially marked as in
poor condition, yet the Jhalawar school wasn’t on the list — showing flaws in
inspection and classification.
Budget allocation insufficient: Although X650 crore was allocated in the last two State
budgets for school infrastructure, government inefficiencies prevented effective use.
Urgent need for reform: Fixing school infrastructure must be a top priority for the BJP-
led Rajasthan government to prevent further tragedies.
National relevance: The incident is a wake-up call for all Indian states, reflecting a
nationwide neglect of public school infrastructure.
NEP 2020 goals ignored: The National Education Policy 2020 had recommended raising
education spending to 6% of GDP, especially for infrastructure, but implementation is
lacking.
Policy neglect evident: Five years after NEP, basic infrastructure remains poor, and
school safety is still not a core agenda.
Wrong policy focus: Governments have focused on privatization and self-financing in
education, ignoring the needs of mass school education.
Need for foundational education: Basic schooling — including literacy, numeracy,
teacher recruitment, and training — is essential to workforce productivity and
demographic advantage.
Call for action: The editorial urges a shift in focus from superficial or elitist education
policies to core investments in infrastructure and government schooling, as
foundational public education is a government’s basic responsibility.
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Practice Exercise: SSC Pattern Based
1. What is the tone of the passage? |[Editoria| Page]‘

A. Celebratory
B. Alarmed
C. Optimistic
D. Detached
2. What is the main theme of the passage?
A. Rising private investment in Indian education
B. Curriculum innovation under NEP 2020
C. Government neglect and the urgent need for infrastructure reform in public schools
D. Comparative study of tribal education in India
3. What does the incident at Piplodi Government School most critically highlight about the
current condition of government schools in Rajasthan?
A. The need for more advanced digital learning tools
B. The lack of teacher attendance and training
C. The unsafe physical infrastructure in many schools
D. The increasing dropout rates among tribal students
4. Why does the passage argue that foundational literacy and numeracy cannot be improved
without focusing on infrastructure and teacher recruitment?
A. Because non-formal teaching methods have failed in all rural areas
B. Because India’s demographic dividend depends on advanced research skills
C. Because essential inputs like buildings and teachers are being ignored
D. Because pedagogy is more effective in private schools
5. Fixing the infrastructure of government schools should be a priority for the State’s Bharatiya
Janata Party government, especially in light of the recent events that have triggered
public outrage.
A. catastrophic
B. serendipitous
C. monotonous
D. clandestine
6. Select the most appropriate option to fill in the blank.
| have a for reading and want to become a writer when | grow up.
A. tallow
B. unity
C. passion
D. dream
7. Select the most appropriate ANTONYM of the given word.
Excessive
A. Moderate
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B. Desirable
C. Inordinate
D. Flow
8. Select the most appropriate option to fill in the blank.
The coaches decided to _ the regulations more strictly because the candidates were not
paying attention during their training sessions
A. provide
B. enjoy
C. enforce
D. supply

9. Select the option that correctly rectifies the underlined spelling error.
The scientist made an appauling discovery about the environmental impact of the drug.
A. appawling
B. apalling
C. appalling
D. appaulling
10. The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.
There has been / an increase of the number / of road / accidents recently.
A. accidents recently
B. an increase of the number
C. ofroad
D. there has been
11. Select the most appropriate option that can substitute the underlined words in the given
sentence.
Solving the riddle given by our teacher is farther beyond our capacity.
A. farthest
B. far
C. fare
D. fair
12. Select the most appropriate option to fill in the blank.
| checked the to see if it will be rain or sunshine
A. wither
B. whether
C. wether
D. weather
13. The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.
He was constantly / gazing on the / crime scene to / find some clues.
A. crime scene to
B. he was constantly

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in
Website: www.englishmadhyam.info, Phone number: 7722987077 Page 6




(V] wiopl JOIN TELEGRAM CHANNEL: ENGLISH MADHYAM

C. find some clues
D. gazing on the
14. Select the option that has used the correct tense.
A. Yesterday, we are painting the door when a neighbour stop by to say hello.
B. Yesterday, we were painting the door when a neighbour stopped by to say hello.
C. Yesterday, we will be painting the door when a neighbour stops by to say hello.
D. Yesterday, we was painting the door when a neighbour stopping by to say hello.
15. Select the most appropriate option that can replace the underlined segment in the given
sentence.
No sooner had they left their home that it started raining heavily
A. their home that it start
B. their home than it starts
C. their home than it started
D. there home than it started
16. Select the word that is OPPOSITE in meaning to the underlined word in the given sentence.
The name should also be beneficial to a strong, long-lasting marketing campaign.

A. Detrimental
B. Advantageous
C. Causal
D. Desirable
17. Select the most appropriate ANTONYM of the underlined word in the given sentence.
Although she is virtuous in her deeds, people misinterpret her because of her open and bold
nature
A. wicked
B. commendable
C. sane
D. moral
18. Select the option that rectifies the error in the usage of the future tense in the given
sentence.
Shivani go to school tomorrow for prize distribution
A. Shivani had gone to school tomorrow for prize distribution.
B. Shivani goes to school tomorrow for prize distribution.
C. Shivani will go to school tomorrow for prize distribution.
D. Shivani has gone to school tomorrow for prize distribution
19. Select the most appropriate option that can substitute the underlined segment in the given
sentence.
Osmium is heavy metal in the periodic table.
A. the most heavy
B. heavier
C. more heavy
D. the heaviest
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20. Select the option that can be used as a one-word substitute for the given phrase.

21

22.

23.

24.

Something that has the quality of being easily broken

A. Damage
B. Brittle
C. Broken
D. Hard

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

It was just before noon on June 26, 1975, and my friend and | were out exploring the bustling
by-lanes of Delhi’s Karol Bagh, unaware that the Emergency had been declared, and that it
would change our lives in ways we could have never _ 1 . Though Indira Gandhi had
herself announced the Emergency in a national broadcast at 8 am, IST, the news took its own
time to reach the common people who went about their business as always. However, two
hours into our outing, we ___ 2 something was wrong. The pavement shops began to thin
out as we watched and the bigger outlets too looked readyto 3 ; many of them worked
behind half-downed shutters. We were young but fancied ourselves as political animals, which
at the time was shorthand for being passionately anti-Congress and anti-Indira. There was no
way we were going to head home without knowing what had happened.

There was already considerable excitement in our small friends’ circle over two ___ 4
developments: the June 12, 1975 Allahabad high court ruling unseating Indira for electoral
malpractices and the Congress’s unexpected defeat in the State election in Gujarat. The
Supreme Court had allowed Indira to continue as prime minister but thatdidnot __ 5 our
joy; it was a technical reprieve that did not lessen the political blow she had received.

. Select the most appropriate option to fill in blank number 1.

A. undermined

B. targeted

C. betrothed

D. imagined

Select the most appropriate option to fill in blank number 2.
A. received

B. sensed

C. created

D. feigned

Select the most appropriate option to fill in blank number 3.
A. open up

B. popup

C. wrapup

D. chicken out

Select the most appropriate option to fill in blank number 4.
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A. mistakes
B. landmark
C. production
D. flaws
25. Select the most appropriate option to fill in blank number 5.
A. adopted
B. dampen
C. magnified
D. diminished
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Answers

1. B 2.C 3.C 4.C 5.A 6.C 7.A 8.C 9.C 10.B 11.B

12. D 130D 14B 15C 16.A 17A 18C 19D 20B 21.D 228B

23.C 24B 25.B [Practice Exercise]|
Explanations

1. B) Alarmed

The passage expresses deep concern and urgency over the collapse of school infrastructure,
the death of children, and the government’s inefficiency in addressing such issues. Words like
tragedy, public anger, wake-up call, and inefficiencies in government clearly show an alarmed
and critical tone.
A. Incorrect; there's no praise or celebration; the passage deals with a tragic incident.
C. Incorrect; the passage highlights failures and neglect, with little to no hope conveyed.
D. Incorrect; the tone is emotionally invested and critical, not neutral or emotionally distant.
2. C) Government neglect and the urgent need for infrastructure reform in public schools
The entire passage focuses on the collapse of a government school building, the poor
condition of school infrastructure, and lack of effective implementation of NEP 2020 goals. It
highlights that education infrastructure in public schools is neglected, and the government
must act urgently.
A.Incorrect; the passage only mentions private sector in passing, not as the focus.
B.Incorrect; the emphasis is not on curriculum but on infrastructure and government spending.
D. Incorrect; while tribal students are mentioned, the passage does not compare educational
status among communities.
3. C) The unsafe physical infrastructure in many schools
The passage explicitly discusses how a school building collapsed, causing deaths and injuries,
and mentions that 8,000 government schools are in poor condition, showing the infrastructure
is a key concern.
Ais incorrect because digital tools are not mentioned or implied.
B is incorrect as teacher attendance/training is mentioned only in general, not as a cause here.
D is incorrect because dropout rates are not discussed in this passage.
4. C) Because essential inputs like buildings and teachers are being ignored
The passage says foundational literacy and numeracy are critical but current discourse focuses
more on pedagogy and non-formal methods instead of the essentials — infrastructure and
teacher support.
A is incorrect because non-formal methods are not said to have failed, just that they're
overemphasized.
B is misleading; the passage ties literacy to workforce productivity, not research skills.
D is incorrect — private schools are not compared in terms of pedagogy here.
5. A) catastrophic
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The passage describes deadly school building collapses — which are tragic and disastrous —
thus catastrophic fits best.

B (serendipitous) means fortunate accidents, which is the opposite tone.

C (monotonous) means boring or repetitive, which doesn’t match the serious context.

D (clandestine) means secretive, and these events were public and shocking, not hidden.

6. C) Passion' &T use BIIT| FdiTh "passion” T 3191 & o Ao & ufa sl o ar gl
sentence ﬁ%mw%ﬁﬁ@%aﬁmﬁﬁ%ﬁk%&&% CEEINCIRG] %’I qg
aaﬁm%ﬁ;wﬁ%crﬁmfrﬁmaﬁg%, SHTAIT 'passion’ TeT g1 'Tallow' W&Tﬁ?ﬁﬂ%q@g
gaT, S 39 GeaT 7 391G TAeh &1 'Unity' &7 372 & TeharT, ST JgT fthe 8T ST Faife Ig frar
IfFaarTa o & STeFd T81 IdT| 'Dream’ &l 3 § YT, feheT Tg ITgT fhe T8T d&ar
W%'dream'ﬁ?@ﬁmﬂﬂﬁﬂﬁm,m'passion'm%l

'Passion' is grammatically and contextually correct because it refers to a strong interest or

enthusiasm for something. The sentence mentions a deep interest in reading and a desire to
become a writer, which aligns with the meaning of 'passion.' 'Tallow' means animal fat,
irrelevant in this context. 'Unity' means togetherness, which doesn't align with the idea of
personal interest. 'Dream' refers to an aspiration but lacks the depth of strong interest or
enthusiasm that 'passion’ conveys, making it less suitable here.

7. A) Excessive (adjective) — More than is necessary, normal, or desirable; immoderate, extreme.

B ED

Antonym: Moderate (adjective) — Average in amount, intensity, quality, or degree; not
excessive, balanced. #EIH, ?@ﬁlﬁ

e Desirable (adjective) — Worth having or seeking; pleasing, attractive. S, 3PS

¢ Inordinate (adjective) — Excessively large, unrestrained, disproportionate. 3TadTed i,

e IBEY

e Flow (noun/verb) — A steady, continuous stream of something; to move continuously.

vdrlg, dgell
8. C) 'Enforce’ Hﬁanswer%a@%mﬁﬁgﬁ'&ﬁmwdﬂ\i CARSIEC gﬁf?aaml areg
# weet Ig ¢ o g o sl &bl e & o) e 1 Tt foram iifer sesfiear giRiefor
AT o GRTeT ATl 781 & 7§ A1 'Provide' 3T 37 § AT AT STCTSE (=T, SiT AT 3Gl 18! o |
'Enjoy' &T 3T § 31Tele =TT, ST 39 Tcd & 3rurafaie &1 'Supply’ wm&%?a 3UTSY 6T,
S T3 STe] Xt Y HTTT 3 3w T8 5
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10.

11.

12.

Enforce' is correct because it means to ensure compliance with laws, rules, or regulations. The
context indicates that the coaches decided to implement the rules more strictly as the
candidates were not paying attention during training sessions. 'Provide’ means to give or
supply, which does not fit as the sentence refers to implementing rules. 'Enjoy' means to take
pleasure in something, which is irrelevant here. 'Supply' means to make something available,
which does not align with the idea of implementing or imposing regulations.

C) The correct spelling of ‘appauling’ is ‘appalling’” which means “very bad or shocking”

HATeTh, HATdg.
B) 'an increase of the number' & &&el 'an increase in the number' &T use 8191 FAi{e ‘increase’

& G 'in' Preposition <hl use ﬁh_QTGI'IT-lT%’, % 'of"; SA@— There has been an increase in the

number of COVID-19 cases.
'an increase in the number' will be used instead of 'an increase of the number' because the
preposition 'in' is used with 'increase,' not 'of'; Like— There has been an increase in the
number of COVID-19 cases.

B) TGT 'farther' T use IToTd & 1T 'farther' ST 3TAT AT #Hfcieh gl (physical distance)
Y e el & T BT &1 a1 o Hedy & 3@, faant & a1 qasr &1 39T gt
(abstract distance) @fEI'IHETTéT%I g 7 far' WWWWWI SA— This task is far

beyond my abilities.

The word 'farther’ is incorrect here because it is generally used to indicate physical distance. In
the given sentence, the context is about an abstract distance of understanding or capacity.
Therefore, the appropriate word is 'far.' For example: This task is far beyond my abilities

D) Weather' &l answer § Fifeh Ig "HIGe $r f&ATT" F gTdr §, s aTier ar g9l 'Wither'
1 Y & "HAISIT," "Whether' conjunction &, 31 'Wether' Teh STEIT 815 o folw g glaTT &,
ST II%'T K> 1S BRI EICT %’I 'Wither': Ig verb %’ IR EIB'T noun T 3TLIHdT %’I 'Whether': Jdg
conjunction & 31X T&T noun &7 FT9TE W fit =TT BFTT| 'Wether': TG noun & oifeheT SHeRT 371
a8 Al 77g) @rel|

'Weather' is correct because it refers to the condition of the atmosphere, such as rain or
sunshine, which the speaker wants to check. 'Wither' means to dry up, 'Whether' is a
conjunction indicating choices, and 'Wether' is a term for a castrated ram, all of which are
irrelevant to the context Wither': This is a verb, while the sentence requires a noun, making it
grammatically incorrect. 'Whether': This is a conjunction and does not function as a noun.
'Wether': Although it is a noun, it refers to an animal and is contextually incorrect
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13.

14.

15.

16.

17.

D) ‘gazing on the’ & d&ol ‘gazing at the’ T use BIT FiTh 'gaze' & d1G gl preposition 'at’
BT & o1 fohddT et 1 3R EWW&'@?@E’IH gIdT &1 SI¥— The boy was gazing at the

stars in the night sky.

gazing on the' should be replaced with 'gazing at the' because the correct preposition after
'gaze' is 'at' when referring to looking intently at something. For example— The boy was gazing
at the stars in the night sky.

B) Yesterday, we were painting the door when a neighbour stopped by to say hello.

‘were painting’ T use H@T %’ FiTh g Past Continuous Tense I g2iiar % ST T fohar
(painting) 3T 31T # T 6T AT & EWTAT §1 ‘stopped’ &T YITIT Past Simple Tense 3 Her
¢ Faifeh I fpar 3@ &g q‘\ﬂ gr ﬂaﬁ &Y 3IR ongoing action & ST &I T@T A | ‘yesterday’
Past Tense T ohd &dT g, 37d: QI a1y Past Tense g afgu)

were painting’ is correct as it indicates Past Continuous Tense, describing an ongoing action in
the past. ‘stopped’ is correct in Past Simple Tense as it refers to a completed action that
interrupted the ongoing action. ‘yesterday’ signals the use of the Past Tense, so the entire
sentence must follow this tense structure.

C) that' & d¢el 'than' T use gI9TT Fifeh 'No sooner' & ST §HRT 'than' 3T T a1 ATAT & |

sentence structure EFWE‘?IF‘I %’: No sooner had + subject + past participle + than + subject
+ verb (past tense) 3Td: 'that it started' &I 'than it started’ Q—TW?HII I

The word 'than' will be used instead of 'that' because 'No sooner' is always followed by 'than.’
The correct sentence structure is:

No sooner had + subject + past participle + than + subject + verb (past tense)

Therefore, 'that it started' should be replaced with 'than it started.’

A) Beneficial (adjective) - Advantageous, helpful, favorable, or profitable. ST, 39T,
IHelhel

9N

Antonym: Detrimental — Harmful, damaging, or disadvantageous. 5llro\-1°hN°h, olqo{-llo-las
e Advantageous (adjective): Beneficial, favorable, providing an advantage. SATHFRT,
Jolchel
o BN

e Causal (adjective): Relating to a cause or reason. $ROT H TEfT

e Desirable (adjective): Wanted, wished for, or pleasing. e, sfr\,gg.d
A) Virtuous (adjective) — Having or showing high moral standards, righteous, good, ethical.
Afae, affis

Antonym: Wicked (adjective) — Evil or morally wrong, mischievous, naughty, roguish.
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18.

19.

20.

21.

gse, Ty

e Commendable (adjective): Praiseworthy, deserving approval or admiration. TATT

e Sane (adjective): Mentally sound, rational, sensible. f[da<hT, FHSIER

e Moral (adjective): Concerned with right and wrong behavior; ethical. Afas
C) "Shivani will go to school tomorrow for prize distribution" gl & Fif "will go' Future
Indefinite Tense & &, T & "tomorrow" &IT 3T §, ST HTAST el (Future Tense) T ol
a'T{FIT%'I 37dT: 91T A Future Indefinite Tense T 91T BT AR T

"Shivani will go to school tomorrow for prize distribution" is correct because 'will go' is in
Future Indefinite Tense, The sentence contains "tomorrow," which indicates a future action.
Thus, the verb should be in Future Indefinite Tense.

D) ‘The heaviest' &T use 8191 Fifeh Superlative Degree T use fohaT STAT § ST fopaT g H
A TR U I Tl ol ST &1 &I Osmium & [ periodic table & THT metals & GEELED)
ST 8T €1 Superlative Degree & T 'the' &I TIAET fhAT JATAT §; SIA— Gold is the most

precious metal.
'the heaviest' is the correct answer because the Superlative Degree is used when comparing
one entity to the rest of a group. Here, Osmium is being compared to all other metals in the
periodic table. The Superlative Degree always takes 'the'; for example— Gold is the most
precious metal.

B) Brittle (adjective) — Something that has the quality of being easily broken. SJ?:I_,T
e Damage (noun)— Harm or injury caused to something, making it less valuable, useful, or

functional. &fa

e Broken (adjective) — Reduced to fragments or not functioning; having been fractured or
damaged. §2T§34T

e Hard (adjective) — Firm, solid, and not easily broken or bent. FoR

D) ‘Imagined’ T use 13T FAi{eh SHT &7 31 IAT § "ol aAT" | ITFT T &3] T IATdT
& T or@e 311 3T AT o H3) 8T TaT AT o 3MATdehTel 37 Si1deT &l 39 g d&of &am|
S’Hﬁl’(’ 'imagined' zl%'ul"\qﬁ'%’l 'Undermined' $r31'25r%‘ "FHHASI HLAT AT AT fe@TaT,” ETZI%T
Heey # The g1 gIaT Fiifeh TG St I Feelel &l holall & folv SUYF w761 ¢ | 'Targeted'
7T "TET T, S TG fereehel 3THTA & Fifeh IgT FHedaAT I ST 81 6T &, 7 fob fohalt
fTRITeAT S=1Tet &1 'Betrothed" &1 31 § "HRITS &X=TT," St TgT I e & A ¢
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22.

23.

Imagined’ is correct because it means "to think of or conceive something in one’s mind." The
sentence context indicates that the author and their friend could have never imagined how the
Emergency would change their lives. Therefore, ‘imagined’ fits perfectly. ‘Undermined’ means
"weakened or diminished," which doesn’t align with the idea of imagining life changes.
‘Targeted’ means "aimed at or focused on," which is irrelevant in the context of imagining life
impacts. ‘Betrothed’ means "engaged to be married," which is entirely out of context.

B) 'Sensed' & use BIIIT &diich S&hT 3T & "HEGH hiall AT Ig HHS UTaAT o HS ITeAdl §1"
IgT sentence A mention %ﬁ?ﬁu?mmgmﬁ?@wa’rw%ﬁ é@'ﬁ??ﬂﬁfaﬁﬁ
TEr ot 31k ATgler scer 8T ol sHfAIT 'sensed’ gl Ter [dhed &1 'Received' T 31 § "9red
AT, ST S0 Hedl 7 Y A8 ¢ Fiieh TgI Tg HHAS AT HEHH el ol a1l &1 W@l o, o T
ferdll TTaT &1 9ol X | 'Created' 3T Y & "HATOT &datr," ST T g & e & SgL &
'Feigned' &1 31 § "S[HS T TEETAT &haTT," S AR o 1T H Hel 781 @ielT|

Sensed' will be used because it means "to feel or perceive that something is wrong." The

sentence describes how they realized something unusual was happening, like shops shutting
down and the atmosphere changing. Hence, 'sensed' is the correct choice. 'Received' means

1

"to get or obtain," which doesn't fit here as the context is about realizing something, not

receiving it. 'Created' means "to make or construct," which is irrelevant in this context.
'Feigned' means "to pretend or fake," which doesn't align with the intended meaning of the
sentence.

C) Wrap up' T use 8191 1T 3T 37T & fordY TSt ot GHTCT ST IT §¢ FHLaT|
ZI%'sentenceﬁw%ﬁﬁ%mﬁmwg%?ﬂﬁﬁmgmﬁmﬁvﬁﬁa
3¢ g & ToT IR @@ 3¢ A 'Wrap up' T AT TgT LY 33T &1 Open up' &1 T §
GoIaT, i TgT 3Tl 161 & FAT1h HEsT 3 Gahlell o &G glet T 1T 81 W61 & | 'Pop up' &1 314§
37eITeTeh Yehe B1aTT| TG HGH H IeTcl § Fifch Gohlell & S Blot &bl ST 81 76T & | Chicken out' T
Y 3T & HROT IS g FT=AT|

Wrap up' means to finish or end something, and it perfectly aligns with the sentence's context
where the shops were ready to close down due to the ongoing Emergency situation. It conveys
the idea of bringing activities to a halt. 'Open up' means to start or open something, which is
inappropriate in this context since the narrative talks about shops preparing to close, not open.
'Pop up' means to appear suddenly, which does not fit the context because the shops are
shutting down rather than appearing suddenly. 'Chicken out' means to back out due to fear,
which is unrelated to the described scenario. The shops are not backing out from fear but are
shutting due to the situation's practical demands.
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24,

25.

B) Landmark' & use gham FAifa "landmark" &7 37 % Eﬁl’é T qua'q;\u‘r geaT a7 Ao S
sfagTd & ve Hrel &1 gc2R A1fad 87| Jgf G 1975 H SATgIEIE 3 1Aty & Ufasiias
thae 3R IeRTT H HIEF FH HIITRIT gR &I 3R &, ST 38 AT & GHT geamhd U
Safeh 'Mistakes' Wﬁé%ﬂﬂﬁﬁ, 'Production’ W&T%Sfa'?)?q'l?\?f, 3 'Flaws' WHQT%’E.TGF, S
58 Test 7 fre At g1 €

‘Landmark’ will be used because it refers to a significant event or decision that stands out as a

milestone in history. The context highlights the 1975 Allahabad High Court ruling and the
Congress's unexpected defeat in Gujarat, both of which were significant developments of that

time. Whereas, 'Mistakes' means errors, 'Production' means creation or manufacturing, and
'Flaws' means defects, none of which align with the context.

B) 'dampen’ ST use BIITT Fifah ST 37 &IAT & ThdT UG, 3cTTE, T YHTT T He AT
sentence H mention %%Wﬁéﬁgﬁumﬁﬁaﬁqﬂmﬁaﬁmﬁa@ﬂﬁazﬁ,
SIfeheT ST 3eThT STl gR T IINTAT &Y e 8T fhAT| 'dampen’ TT TEY & FiTeh T
"GHNY G &Y A HAT" 1 SATAT &1 'Adopted' (INE ol AT IIATAT) &I 3UANT 58 Hedh 7
I & Fifeh Tgr fordlY Aifa 1 TR 1 37971 &Y 910 F81 &1 'Magnified' (S¢TT) aTeFT &
3719 & Aol §, Fifer JgT et e glet T a1l 81 16T &1 'Diminished" (3 B1etT) T aTeld &
31T T 'joy' & ToIT TET Tk AT ST, STk g 31 fohaly fifieh et & daet & 3uter
ATl

Dampen' is correct because it means to reduce the intensity or effect of something,

particularly emotions or enthusiasm. The sentence indicates that although the Supreme Court
allowed Indira to continue as prime minister, it did not reduce the joy felt by the speaker and
their friends. 'Adopted’ is incorrect as it means to take up or accept something, which doesn't
fit the context of reduced emotions. 'Magnified' is the opposite of what the sentence conveys,
as it means to increase something. 'Diminished’ is incorrect as it is more suited to physical or
measurable reductions and doesn’t properly collocate with 'joy' in this context.
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